Stat 100a midterm, Prof. Rick Paik Schoenberg, 11/7/17, 1 lam-12:15pm.

1. Do not turn the Page and start the exam until you are told 1o do so.
2. Enler your name now on the scantron form.

3. Under special code, enter 222722

4. You may use a calculator, a pencil, and any books and notes you want during the exam, but no
compulcrs, tablets, phones, or anything that can communicate or surf the web.
S. There are 14 multiple choice questions worth 7.14% cach.

6. No partial credit is given for multiple choice questions. Choose ONE answer only.
7. Final numerical answers have been rounded to 3 significant digits.
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0. 1L Suppose you know that your opponent \v;n'l\lkll o all in before the flop with 100% probability if
she had AK, she would o all in before the flop with 50% probability if she had AQ, and she
would go all in before the Hop with 30% probability if she had a pocket pair. With other hupds,
there is 0% probability that she would go all in before the flop. Given that she has gone all'in
before the Mlop, and given no other information about her cards or her opponents’ cards, what is
the probability that she has AK?

. 33.8%, b. 41.2%. ¢. 50.0%. d. 62.2%. ¢. Nonc of the above.

FFor the next two problems, suppose Minieri has Q9 29, his only opponent Lederer has 109 89,
and the [lop is 24 10% 94, Before the turn is revealed, the potis $100. The turn is 44, and Lederer
goes all in for $20. Minieri has more than $20 and is deciding whether to call.

A 2. Assuming Minieri wants to maximize his cxpected number of chips after this hand, and
assuming knowledge of his cards, Lederer's cards, und the 4 cards on the board, should Minieri
call?
a. Yes, because Minieri should call if his probability of winning the hand is at least 14.1%, and
his probability of winning the hand is 14.3%.
b. Yes, because Minieri should call if his probability of winning the hand is at least 11.2%, and
his probability of winning the hand is 11.4%.
¢. No, because Minicri should only call il his probability of winning the hand is at least 11.8%,
but his probability of winning the hand is only 11.4%.
d.No, because Minieri should only call if his probability of winning the hand is at least 14.3%,
sut his probability of winning the hand is only 11.4%.
c¢. Nonc of the above.
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o . 3. Minieri calls, and the river is the 24, giving him 3 of a kind. How much equity did Minieri

gain due to luck on the river? ,
a. $101. b. $112. c. $118. d. $124. c. None of the above.

For the next two problems, let X = $5if you are dealt (wo hole cards of the same suit as each

7 (L hs ‘ =9 1 ) _ —
other on your next hand, and X = $0 otherwisc. ) ( l/()_&_;}_ LT
[N -74./thL1A‘is the expected value of X, in dollars? o
& 1.18.7  b.2.20. c. 2.45. d. 2.89. c. None of the above.
b3 T
V. 5. What is the variance of X, in dollars? B0 - Eixy -
a. 2.75. (b. 450> c. 6.28. d. 7.04.( 4y & Noncof theabove. ¢ )
- Pliawpy = ’,—)) < auoqs,  Ulred) s s 0248
6. Let A be the event that both your hole cards are kil‘l}_is. and let B be the event that both your
hole cards are red cards. Arc A and B independent? Plorly § Pl plred)
@ b. Yes. ¢. Cannot be determined {rom the information given.

7. Suppose you play 100 hands of Texas Holdem. Let X = the number of hands where both your
hole cards are clubs. What is the expected value of X7

a. 4.29, b. 4.75. ¢, 5.88, d. 6.20. e. None of the above.
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Let X = the number of hands until the first time you are dealt 2 cards that are both ¢clubs. What
is E(X)?

a 1501, b. 16.2, ( c.‘|”7.0.\\ d. 189, ¢. None of the above,

, P ['\\‘\‘ \!‘\ l\u\()lt\((\\lh""\}V'({’)
O\ 9. Suppose X and Y are uniform nn (() 1) and X and Y are independent, Wh.ll is u)\(..,\ LY,

3IXHY)? LOVIZXAY L 2X4 A ) = Cou[2x XX v {2XAY) - 4oy 0, ,((- viY.4y)

a. -0.404, b. 0.404. C. 0 Nl\. 0833, e None of the above.

N SIS V=B 25) = exp (2
\0 10 Suppmc Xis C\poncnlml withA =2, 50 E(X) = 1/2. Whatis P2 < X <3)? (¢~ 2 7I8°H”)

a. 0.593% b l ')8‘/\ c: 7. ”9‘/( d. 8.03%. ¢. None of the above.

o ll Suppose the odds against X are 3, or as it is sometimes written, 3: 1. What is P(X)?
1. 20.0%. ’b. 25. 0‘/& ¢. 33.3%. d. 50.0%. ¢. None of the above.

a3 d)
\) 12. What s the probability that the suits of your 2 hole cards will be dillerent from cach o \l\hcr’
a.500%. (b.76.5% ¢ 8L5%.  d.845%  c Noncof theabove. 2 )
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A\ 13/'What is the probability that your 2 hole cards will form & pair, given that your 2 hole uuds

are of different suits? ] 139 ¥ (H
a. 4.33%. b. 5.02%. c. 6.49%. @9& ¢. None ol the above. l\’ / 15¢ \,1 ‘..>

(4. What is the probability that the 3 cards on the flop are all different numbers? For ll]\ldl]LC il
the cards are 74 Q¥ Q#%, then we would say two ol them are the same number (the two queens).
Or if the cards arc 74 7% 7%, then they arc all the same number (all 7s). But il they arc 74 Q4 44
then-they are all different numbers.

a 82. 9] b. 84.4%. . 87.0%. d. 89.2%. ¢. None of the above.
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